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SNE 63 A 10000 630000

=1=E30 3 10000 30000
= (BRI TESKY4BI1000 x 1227 =1)
NAFRH(CREILEMER) 11 H24H 30 M/ #& 150 4500
INILVE(EIXRERH)11824H 1 i 864 864
NAF (KELLEMER) 11 H24H 540 4 52 28080
INILVE(EIKRERH)10829H 2 i 864 1728
NAF (KELLEMER) 108 29H 620 ® 52 32240
INET 1 67412
FHETIL/ A (B @1000) 235 H#E@1000 1000 23500
I CERA 60cm X 240cm @R (4] 1 54 3289 3289
EBTE600cm X 90cm AR VME (&£ 1 4 13375 13375
I (EAREEL) 1| —=412020] 459000 459000
R—RE—EEREY (1) 2 442 884
HLD L DR TRHR (E175) 10 648 6480
X HEE 573940
IR 86060
BHI LESEAN 86060







